NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS
CFO0015 - SINGLE CEE COLUMN AT BYPASS GIRTS
CF0250 - GIRT TERMINATION DETAIL
CF0251 - GIRT TERMINATION AT EXISTING DETAIL
CF0252 - BOLTED GIRT TERMINATION DETAIL
CF0253 - BOLTED GIRT TERMINATION AT EXISTING DETAIL
CF0256 - HR GIRT TERMINATION DETAIL
CF0257 - HR GIRT TERMINATION @ C.F. COL.
CF0275 - GIRT TERMINATION @ MASONRY WALL DETAIL
CF0280 - BOLTED GIRT TERMINATION @ MASONRY WALL DETAIL
CFO0351 - SIMPLE SPAN GIRT TERMINATION @ C.F. COL.
CF0360 - BYPASS GIRT AT CF CORNER COL.
CF0500 - 8" GIRT TERMINATION DETAIL
CF0501 - 8" GIRT TERMINATION AT EXISTING DETAIL
CF0510 - 8" GIRT TERMINATION @ MASONRY WALL DETAIL
CF0520 - 9 1/2" GIRT TERMINATION DETAIL
CF0521 - 9 1/2" GIRT TERMINATION AT EXISTING DETAIL
CFO0530 - 9 1/2" GIRT TERMINATION @ MASONRY WALL DETAIL
CF1001 - BOLT PLACEMENT DETAIL
CF1010 - BYPASS CORNER GIRT DETAIL
CF1020 - SPANDREL GIRT AT CORNER (WELDED CLIP)
CF1021 - SPANDREL GIRT AT CORNER (BOLTED CLIP)
CF1060 - HR SPANDREL GIRT AT CORNER (WELDED CLIP)
CF1061 - HR SPANDREL GIRT AT CORNER (BOLTED CLIP)
CF1200 - BYPASS CORNER GIRT TERMINATION DETAIL
CF1201 - BYPASS CORNER GIRT TERMINATION AT EXISTING DETAIL
CF1210 - SPANDREL GIRT TERMINATION (WELDED CLIP)
CF1211 - SPANDREL GIRT TERMINATION (BOLTED CLIP)
CF1220 - HR SPANDREL GIRT TERMINATION (WELDED CLIP)
CF1221 - HR SPANDREL GIRT TERMINATION (BOLTED CLIP)
CF1260 - BYPASS CORNER GIRT TERMINATION @ MASONRY WALL DETAIL
CF1270 - SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)
CF1271 - SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)
CF1280 - HR SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)
CF1281 - HR SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)




NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0015 - SINGLE CEE COLUMN AT BYPASS GIRTS

Fo=======1

CLIP MK. GCBO03.
LOCATE (1) ATALL
GIRT LOCATIONS.

8" OR 12" DEEP
SINGLE CEE COLUMN

(4) 1/2" x 2" A325
BOLTS H0603/ NUTS
H0300

GIRT cLp
\ WK.GCCO02 \ CLIP MK.
GCW0B AT 8' GIRTS

GCWO09 AT 9.5" GIRTS

.
2 e—é, GCB11AT 12" GIRTS
2 T e
2 ! i d g
_@__--_- @_ a- o~-—-—-- -
° 1.
1 -
! i | ! =
| | i B g v
| a =
' : (P—I @ "
o P! g 5
I | | .

- o
(kl73 S G GIRT DIMENSION "A"
GIRT ANGLE MK. MAGO1 4"AT 8'GIRTS

2) H1020 FASTENERS! g g %1325 GGllFiiTT sS
(FIELD CUT TO LENGTH) |
114" !
END OF GIRT b4 * i
-4 4 CENTERLINE OF COLUMN
ISOMETRIC VIEWS
STEEL LINE N |
i —CLIP MK.
ZEE GIRT ! eRo3
1
1
]
INGLE CEE
o COLUMN
GCWO8 AT 8" GIRTS !
GCWO09 AT 95" GIRTS
GCB11 AT 12" GIRTS T
1

SINGLE CEE COLUMN BYPASS CORNER

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE F 1
NOTE: USE (8) 1/2" X 1 1/4" A307 BOLTS H0500 / NUTS H0400.

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 03.30.22 (MR2022.01) CERTIFIED ERECTION DETAILS Detail Size (W x H): 2x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF0015.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0250 - GIRT TERMINATION DETAIL

T / — SHOP WELDED CLIP

GIRT\L I | CLP MK, GOA
$

SECTION "A"
9 112" GIRTS |2 3/4; 4 234"
8' GIRTS| 2" 4 2
o~ T 7T
——CLIP MK. GCAO1 |
! !
I I
R Heo—— _ SHOP WELDED STIFFENER
© © © /| STANDARD

1'-1 1/4" AT 8" GIRTS
1-2 3/4" AT 9 1/2" GIRTS

1/4"
Qm//
z &

S

=

m

2

(w]

e

)
8"OR91/2"

Ty Bl s | 14" . CENTERLINE

Ll = ® ¢

5= 2lo U T TOF CoLUMN

GIRT TERMINATION DETAIL

NOTE: USE (4) 112" x 1 1/4" A307 BOLTS HOS00INUTS HO400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C CF0250 >
REQUIREMENTS

Detailer Notes: 4y \yg| pED CLIP TO COLUMN : GFI02
2) ADD STIFFENER: WS_04
3) USE BOLTED ALTERNATE DETAIL FOR 12" GIRTS

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CF0250.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0251 - GIRT TERMINATION AT EXISTING DETAIL

T / — SHOP WELDED CLIP

GIRT\L I | CLP MK, GOA
$

SECTION "A"
9 112" GIRTS |2 3/4; 4 234"
8' GIRTS| 2" 4 2
o~ T 7T
——CLIP MK. GCAO1 |
! !
I I
R Heo—— _ SHOP WELDED STIFFENER
© © © /| STANDARD

i

~

11 1/2" AT 8" GIRTS
11" AT 9 1/2" GIRTS

MARO1 ANGLE W/
/ (2) H1020 AT EACH O O
t: SUPPORT | [ HE o

i >
] | SHOP WELDED CLIP 5
o | GIRT ®
V S ST S s -
- ! EXISTING BUILDING %
B gk S S S S g
|~ STEEL | 14" | CENTERLINE
LINE T TOF COLUMN
GIRT TERMINATION DETAIL
NOTE: USE (4) 172" x 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C C F025 1 )
REQUIREMENTS

Detailer Notes: 4y \yg| pED CLIP TO COLUMN : GFI02
2) ADD STIFFENER: WS_04
3) USE BOLTED ALTERNATE DETAIL FOR 12" GIRTS
4) MARO1 angle and H1020 fasteners will need to be added by hand in Tekla or PartsList

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CF0251.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0252 - BOLTED GIRT TERMINATION DETAIL

LEFT HAND DETAIL SHOWN, GIRT

RIGHT HAND OPPOSITE _\ T

$

9 1/2' GIRTS 2 3/4; 4 234"
" AND 12" ., .. CLIP MK. SECTION "A"
8' AND 12" GIRTS | 2 4 VARES GCCO3

T~

USE (2) 1/2" x 2" A325
_______ BOLTS H0603/ NUTS
HO300 (CLIP TO FLANGE
CONNECTION)

B—

11 1/4" AT 8" GIRTS
1-2 3/4" AT 9 1/2" GIRTS
(@]
- |
o |
= |
~
|
l
*

ir
e - L
o w ! I
wwl Ol ! |
w= e | |
Hl1S S| STEEL 14" | CENTERLINE
W LINE T T OF COLUMN

BOLTED GIRT TERMINATION DETAIL

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C C F 02 52 >

REQUIREMENTS

Detailer Notes:

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CF0252.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0253 - BOLTED GIRT TERMINATION AT EXISTING DETAIL

LEFT HAND DETAIL SHOWN, GIRT

RIGHT HAND OPPOSITE _\ T

$
91/2' GIRTS |2 344! 4" 234" CLIP MK, SECTION "A"
8" AND 12" GIRTS | 2" 4" VARIES GCCO3
/
\// USE (2) 1/2" x 2" A325
——————— BOLTS H0603/ NUTS
HO0300 (CLIP TO FLANGE
A" CONNECTION)
r__ _____________ -
e +Ho-———6 Hy
| =
w|n ! =
b |bc | ©
N l - ——e
o (N b X
=l MARO1 ANGLE W/ ~
<< | o~
al A e (2) H1020 AT EACH \ “““““““““ T
|z 1"~  SUPPORT CLIP MK. &
N i \GCCOS >
[a's
i GIRT o
N [se]
A S S / 7
Ok 2 EXISTING BUILDIN /
@ W=
S5 bS ///// /.
STEEL | 14" | CENTERLINE
LINE T T OF COLUMN

BOLTED GIRT TERMINATION AT EXISTING DETAIL

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER ( C F 02 53 )

REQUIREMENTS

Detailer Notes:
1) MARO1 angle and H1020 fasteners will need to be added by hand in Tekla or PartsList

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x 1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CF0253.dwg

NUCORN

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF0256 - H.R. GIRT TERMINATION DETAIL

Issued By: EGB

HOT-ROLLED GIRT
\_A USE (2) 1/2" x 2" A325 BOLTS H0603/
USE CLIP HOLES SHOWN NUTS HO0300 (CLIP TO WEB
FOR 8" GIRTS CONNECTION)
GCCO3 CLIP
TOED UP
SHOP WELDED
T \ o
6o Bo T
! ————4— 4 f\l
| | I~
ol PO C {mml —=t
| t -
x |9 | | ~
ola EQ+ 4 ¢ EQ || o~ L COLUMN
| FACE
|<_: |<_: U
SIS = ?
| € S
~ ~ ;
[a's
o
m &
(@)
olx
Slo
3
5
)
LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
NOTE: USE (2) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300) C F 02 56
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes: 4y \yg| DED CLIP TO HR GIRT : HCS08
2) DETAIL IS FOR BU/HR COLUMN ONLY.
lssued  : 08.16.19 2019.003 CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1x 1


../Certified%20Erection%20Drawings/CED_NBG/CF0256.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0257 - HOT-ROLLED GIRT TERMINATION @ C.F. COL.

THESE CLIP HOLES ARE HOT-ROLLED GIRT
USED FOR OTHER
APPLICATIONS. CLIP MK. GCC23
5 (TOED-UP)
USE (2) 1/2" X 2" A325
BOLTS H0603 / NUTS H0300
(CLIP TO WEB CONNECTION)
SHOP
WELDED CLIP ‘ '
\ !
| L\ 1 i o
* © @‘ -@i@ |
IR I i
S | ——— L
|1
B d) @ |
o| 2 il L H—e
= L =
Xl o N
Ol 'y
| o
E:
==
SqIS, 0
~ m -
MRS — &D
(D 1' 4" =
Sl e - o ©
= ¢
5 ,,,,,,,,,,,,,,,,,,,, §
o o
= | ] - -—e—9%
% ) \
- GIRT ANGLE MK. MAGO01
WITH (2) H1070 FASTENERS

HOT-ROLLED GIRT TERMINATION @ C.F. COL.

LEFT HAND DETAIL SHOWN. RIGHT HAND OPPOSITE

NOTE: USE (2) 1/2" X 2" A325 BOLTS (H0603) & NUTS (H0300) ( C F0257 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) THIS DETAIL IS FOR COLD FORMED COLUMN CONDITIONS ONLY.
2) THE SHOP WELDED CLIP SHOWN IN THE DETAIL, IS A HCSO08..

Issued : 08.16.19 2018.057 CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: SAA


../Certified%20Erection%20Drawings/CED_NBG/CF0257.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0275 - GIRT TERMINATION @ MASONRY WALL DETAIL

= SHOP WELDED STIFFENER
S STANDARD
3 L SHOP WELDED
-~ _\ / CLIP
& @
| I
MASONRY WALL ‘ ,— CLIP GCAOT
BY OTHERS\ o @
. SHOP WELDED
‘ CLIP FOR HR GIRTS
3 Y RO
~ 1 ) E\l B
_J_é | I
A
. | %
]
'4.‘@ | - L;L
: : \ >
1 o R A e
— | —
ﬁ % : 1/4" ‘ g <
w | = | =
STEEL VARIES 514" + GRT I <
LINE *e
GIRT TERMINATION DETAIL

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C C F 02 7 5 >

REQUIREMENTS

Detailer Notes: ) \yg| pED CLIP : GFI02
2) WELDED CLIP AT HR GIRT : HCS__
3) ADD STIFFENER: WS_04
4) USE BOLTED ALTERNATE DETAIL FOR 12" GIRTS

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CF0275.dwg

NLUCOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF0275 - BOLTED GIRT TERMINATION @ MASONRY WALL DETAIL

RIGHT HAND OPPOSITE

LEFT HAND DETAIL SHOWN,

G COLUMN

MASONRY WALL

BY OTHERS \

CLIP MK. o
GIRT _\ GCC03
= n +
u
SECTION "A"
— USE (2) 1/2" x 2" A325
BOLTS H0603/ NUTS
H0300 (CLIP TO FLANGE
CONNECTION)
— CLIP MK.
GCCO3

VARIES
2 3/4';

?
.

4"
4"

i

_‘

d L | ! \

w Z : 1/4u <

=15 | " GIRT
STEEL | VARIES 514"
INE ¢ oo ¢

BOLTED GIRT TERMINATION DETAIL

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

RQUIREMENTS

Detailer Notes: ) \yg| pED CLIP : GFI02
2) WELDED CLIP AT HR GIRT : HCS__
2) ADD STIFFENER: WS_04

o
2"
91/2" GIRTS 2 3/4"
n

8" AND 12" GIRTS |

(_CF0280 )

Revised : 04.08.25 (MR2025.04)

RevisedBy : AJT

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CF0280.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0351 - SIMPLE SPAN GIRT TERMINATION @ C.F. COL.

SINGLE / DOUBLE 8" OR 12"

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE C.F. COLUMN
——USE (2) 1/2" X 2" A325
' BOLTS H0603 / NUTS H0300
' (CLIP TO WEB CONNECTION)

GIRT
\ ——CLIP MK. GCC23
¥

¢ OF COLUMN

SIMPLE SPAN GIRT TERMINATION @ C.F. COL.

SIMPLE-SPAN GIRT TERMINATION AT INTERIOR COLUMN
NOTE: USE (2) 1/2" X 1 1/4" A307 BOLTS (H0500) & NUTS (H0400) ( C FO35 1 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) THIS DETAIL IS FOR COLD FORMED COLUMN CONDITIONS ONLY.

Revised : 09.24.20 (MR2020.10) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
RevisedBy : SDF


../Certified%20Erection%20Drawings/CED_NBG/CF0351.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0360 - BYPASS GIRT AT CF CORNER COL.

CLIP MK. GCBO3.
8" OR 12" DEEP
SINGLE CEE COLUMN LOCATE (1) ATALL
GIRT LOCATIONS.
(4)1/2"x 2" A325
BOLTS H0603/ NUTS
H0300 .
CLIP MK.
| GCWO08 AT 8" GIRTS
= GCW09 AT 9.5" GIRTS
| GCB11 AT 12" GIRTS
| .
H I<
! w
| ,
! =
| = w
a =
! ———— -
! . w
| gl B
\‘ GIRT DIMENSION "A"
4"AT 8'GIRTS
4" AT 95" GIRTS
8" AT 12" GIRTS
END OF GIRT!
STEEL LINE CENTERLINE OF COLUMN

ISOMETRIC VIEWS

+—CLIP MK.
GCB03

STEEL LINE
ZEE GIRT

PR, INGLE CEE

COLUMN
GCWO08 AT 8" GIRTS 1

GCWO9 AT 9.5" GIRTS
GCB11 AT 12" GIRTS

BYPASS GIRT AT CF CORNER COL.

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE F
NOTE: USE (4) 1/2" X 1 1/4" A307 BOLTS H0500 / NUTS H0400.

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 03.30.22 (MR2022.01) CERTIFIED ERECTION DETAILS Detail Size (W x H): 2x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF0360.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0500 - 8" GIRT TERMINATION DETAIL

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
. 51/2 ’
n i
T;& - SHOP WELDED STIFFENER
_ | PER DESIGN
= o
2 |
(@] |
2 |
RERE _'_'_'I_ '''''''''''''' . _— SHOP WELDED CLIP
= L
| -
| o
H ] ” | ] L&
| o ¥
N ! I o
: ! R -
- | N
! | I | -
| b “
' | I |
! | | Il | |
| I u I
| ) S ‘
| ! ! i
! L e . E\l
3 | N
— |
i = 4 8" GIRT
w|~ \7\
STEEL

LINE

8" GIRT TERMINATION DETAIL

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( C FO 500 )

Detailer Notes:

1) WELDED CLIP: GRCO1
2) ADD STIFFENER PER DESIGN: WS_12

Revised : 09.03.21 (MR2021.09) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
RevisedBy : BSS


../Certified%20Erection%20Drawings/CED_NBG/CF0500.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0501 - 8" GIRT TERMINATION AT EXISTING DETAIL

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
PR L
" i
T;& - SHOP WELDED STIFFENER
o PER DESIGN
= |
= o
A £ SHOP WELDED CLIP
| T
Vs L
/ |
| I '
I |
I
i 1l \ °
7 T .
| I |
5 s/ B |4
- - A
= MAROTANGLE W/ 1 | i |
gty (2 H1020ATEACH | + I 1 | %
e SUPPORT N
%) [ u [
7 AL B t
o, A — : Y
i A %%=i§— —e-3
7l | N
wi| Z | 8" GIRT
@ |
STEEL ; 2"
ne & T

8" GIRT TERMINATION AT EXISTING DETAIL

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS C C FO 50 1 )

Detailer Notes:
1) WELDED CLIP: GRCO01

2) ADD STIFFENER PER DESIGN: WS_12
3) MARO1 angle and H1020 fasteners will need to be added by hand in Tekla or PartsList

Revised : 08.01.24 (MR2024.08) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CF0501.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0510 - 8" GIRT TERMINATION @ MASONRY WALL DETAIL

LEFT HAND DETAIL SHOWN, ® 51/2" ‘
RIGHT HAND OPPOSITE i
|
|
|
|
|

SHOP WELDED STIFFENER
z PER DESIGN
2
(@]
(&)
>~ & _— SHOP WELDED CLIP
._
-
= I S | N A S B ¢, ' R — Y
=
_____________ ____‘_
&
) AN
| = o 8" GIRT
n
STEEL VARIES J,

LINE

8" GIRT TERMINATION DETAIL

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CFO51 O )

Detailer Notes:

1) WELDED CLIP: GRCO01
2) ADD STIFFENER PER DESIGN: WS_12

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CF0510.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0520 - 9 1/2" GIRT TERMINATION DETAIL

LEFT HAND DETAIL SHOWN, ,
RIGHT HAND OPPOSITE o OV
4|l %
]
o SHOP WELDED STIFFENER
_ ] PER DESIGN
=
> ]
O
et .
>~ - -
- _— SHOP WELDED CLIP
L
I
| T
| I |
| ]
| i Il 1 i ._
| | I | ! e
a | : o L
= ! i o [ .
- : I i
| ] ~
| I I I
| I
1 [ v |
! I “%"_“@1 _______________ A&
| Lo ] o
| |
| | \ —---$
o= | 91/2" GIRT
A \
STEEL |

LINE

9 1/2" GIRT TERMINATION DETAIL

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( C F O 5 2 O )

Detailer Notes:

1) WELDED CLIP: GRC02
2) ADD STIFFENER PER DESIGN: WS_12

Revised : 09.03.21 (MR2021.09) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
RevisedBy : BSS


../Certified%20Erection%20Drawings/CED_NBG/CF0520.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0521 - 9 1/2" GIRT TERMINATION AT EXISTING DETAIL

LEFT HAND DETAIL SHOWN, "
RIGHT HAND OPPOSITE o 1
4“ %
|
| | SHOP WELDED STIFFENER
_ o PER DESIGN
= | |
= .
8 )
R e _— SHOP WELDED CLIP
1] 1
7 N
1] 1
/ -
1] 1
| - .
// IR .
é | n ! |
- /‘§¢ O *+
- 2 VAROI ANGLE W/ | | [
& @HI00ATEACH | | & | | %
EV SUPPORT N
9D e u
%7 e :
L d (@)
| [i il L
* // - %%=i§— \ — 3§
I | 911" GRT
&n|— |
STEEL ; 2
e v

9 1/2" GIRT TERMINATION AT EXISTING DETAIL

NOTE: USE (2) 1/2"x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( C F O 5 2 1 )

Detailer Notes:
1) WELDED CLIP: GRC02

2) ADD STIFFENER PER DESIGN: WS_12
3) MARO1 angle and H1020 fasteners will need to be added by hand in Tekla or PartsList

Revised : 08.01.24 (MR2024.08) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CF0521.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF0530 - 9 1/2" GIRT TERMINATION @ MASONRY WALL DETAIL

LEFT HAND DETAIL SHOWN, 51/2"
RIGHT HAND OPPOSITE ¢

SHOP WELDED STIFFENER
PER DESIGN
=
=
2
(@)
(@)
- & —- P SHOP WELDED CLIP
o
g
i& LLl
- v A e —-
=
_____________ — e
(@}
L
I — \ ——e$
-
i '-éJ ) 912" GIRT
= 14—
STEEL VARIES J,
LINE

9 1/2" GIRT TERMINATION DETAIL

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CFO53O )

Detailer Notes:

1) WELDED CLIP: GRC02
2) ADD STIFFENER PER DESIGN: WS_12

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CF0530.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1001 - BOLT PLACEMENT DETAIL

N e
8" GIRT | |
| |
- | - |
S | - ! T !
R C ! = |
L O b s o
lo] I !
_ i i_O@ O@J _ i O O
N I Y N |
© i \GCCOZ CLIP @ i Xeccoz CLIP
i, CONNECTION VARIES i CONNECTION VARIES
o= o 2
8" GRT—" 8" GIRT —
8" & 8" CORNER 8" &9 1/2" CORNER
91/2" GIRT o 8" GIRT S
I I
| |
> ! =N !
o | e I & | e I
sl o o | | +lo o 1
= I =3 = I —======F=
|° | | I°| |
o : N :
J || o o] 100
[ I ittt = [ e
| T N\__GCC02 CLIP = T N__GCC02CLIP
! CONNECTION VARIES ! CONNECTION VARIES
| |
' 91/2" GIRT ' 91/2" GIRT
I N\ ol N\
91/2" & 9 1/2" CORNER 91/2" & 8" CORNER

BYPASS GIRT BOLT PLACEMENT DETAIL

REFERENCE WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS. ( C F 1 OO 1 )

REFER TO THE DETAILS ABOVE TO DETERMINE WHICH HOLES ARE UTILIZED.

Detailer Notes: 1) N/A

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CF1001.dwg

NLUOCOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1010 - BYPASS CORNER GIRT DETAIL

ERECTOR NOTE GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS. REFER TO
THE STANDARD BOLT PLACMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.

EQ 4 EQ ZEE GIRT N
$ >—o
A?VT/\/j\/*/—GmT T _\

% : CLIP MK. & i & q
% N T/ - [ = :. cLIP -
SRV —- / GRT 1| @ _SECTIONA
+ S .
S | B g
. 4 E— O+O—1 11
| | SN
ai | PPy
ii \ | OO
ﬂi\:\ | V\ —--—ufO—li
i .| \:leRTANGLEMK.MAGm | \
4" 4g 2% o 3 g WITH(2)H1020 (FIELD : SHOP WELDED CLIP
' CUT TO LENGTH
% END OF GIRT | ) | SEI%)FEJEVSEI(E?\IED STIFFENER
3¢ = ¢
BYPASS GIRT CORNER DETAIL

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE

NOTE: USE (8) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER ( C F 1 O 1 O )

REQUIREMENTS

1) (4) HOLE WELDED CLIP:

2) ADD STIFFENER PER DESIGN:

8" - PCUO1 8" GIRT: WS_04
9 1/2" - GCB62 9 1/2" GIRT: WS_04
12" - GCB12 12" GIRT: WS_12
Issued : 056.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CF1010.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1020 - SPANDREL GIRT AT CORNER (WELDED CLIP)

DIM. "A" = 4" AT 8" & 9 1/2" GIRTS (2) JCP02 @ 8" GIRT
= 8" AT 12" GIRTS (2) JCP09 @ 9 1/2" GIRT _—
(2) JCPO3 @ 12" GIRT
LEFT HAND DETAIL SHOWN, ATTACHVENTTOWALLAT =~ = —
RIGHT HAND OPPOSITE 20" 0.C. MAXIMUM
(ANCHORS NOT BY NBS) ™ I
(FIELD DRILL GIRT AS REQD) A A
G COLUMN
—/ oLp i SECT."A"
LBy & EQ (2) JCPO2 @ 8" GIRTS |
L] L (2) JCPO9 @ 9 1/2" GIRTS
Fp— oo (2) JCP0O3 @ 12" GIRTS|
| i
l CLIP |
) ——r—+——————————T—4— GCMO3 @ 8" & 9 1/2" GIRTS
& N CLIP-@ 12" GIRTS |
AN I i
N N — —
|T _____ —_——— T A T r=r=——r— . q ‘
] S — RN -
v ‘,2 | I I i I
|0_: E o _‘_T_'_f@ I i |Jl_@+_'_"
o|lo0 ! ! | | WELDED CLIP ———! ! ! .
st L NI R
N . GIRT ANGLE MK. MAGOT |1 | il | 8
=99 | i | W/(2) H1020 (FIELD ! il: :
R [
P2 *—}—'—f'@ ! LS'I)TO LENGTH A\ Y/ R &
(@} el _41__+______________ | 141 | (@]
L Ind B | | | T L
® I| I I - = 1' "i“ 'I' = ®
END OF GIRT - | | -
q_ 1/4" H%_H uAu
SEE PLAN o ——
¢
NOTE: USE (8) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( C F 1 02 O )

Detailer Notes:

1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER

2) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCM04, 9 1/2" GIRT = GCM95,

12" GIRT = GCM12

3) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCM95 = WS_04, GCM12 = WS_12

Issued : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF1020.dwg

NUWUWECOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1021 - SPANDREL GIRT AT CORNER (BOLTED CLIP)

COLUMN %* 8" 912" 12"
FLANGE WIDTH GIRTCLIP | GIRTCLIP | GIRTCLIP
FLANGE = 4" 11/8" GCM11 GCM25 GCM13
FLANGE > 4" 112" GCMO1 GCM24 GCM06
LEFT HAND DETAIL SHOWN, DIM."A" =4"AT 8" &9 1/2" GIRTS

RIGHT HAND OPPOSITE = 8" AT 12" GIRTS

,~CLIP

CLIP
(2)JCP02 @ 8" GIRTS  (FIELD DRILL GIRT AS REQID)

(2) JCPO9 @ 9 1/2" GIRTS
(2) JCPO3 @ 12" GIRTS

GCM03 @ 8" & 9 1/2" GIRTS

GIRT CLIP MK. GCM_
(SEE CHART FOR
MARK NUMBER)

JCP02 AT 8" GIRTS T T
JCPO9 AT91/2" GIRTS |k &
JCPO3 AT 12" GIRTS —/ /

ATTACHMENT TO WALLAT ~ /
40" 0.C. MAXIMUM

(cHorsNoTBY Nes) _OECT. "A”

COLUMN

USE (2) 1/2" x 2" A325 BOLTS
H0603/ NUTS H0300 (CLIP TO

& CLIP- @ 12" GIRTS , * o % : FLANGE CONNECTION)
L ——————————————— L T -_- ______ 1 ’
3:,1-“-;::::{ “““““““ 1 o
020 8 [l Y Pk
wox O | O Ho—
OlxO ! ! ' bl i -
oon |l =
g ¥ |1 2
NPy I ] ! GIRT ANGLE MK. MAGO1 . | w1 9
=l ! ! ! W/(2) H1020 (FIELD | il I
"oy $1O | CUT TO LENGTH) I@ﬂ‘ .
~ (@] et I I I oL Ol
w I I I | . H | | |
° 1 ] ] L_T__'!IL__T_‘! .
| |
| |
L END OF GRRT P
% 4?_?_+7 |IAII
1/4" D
SEE PLAN
¥

SPANDREL GIRT AT CORNER (BOLTED CLIP

|
¢
G COLUMN
)

NOTE: USE (8) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD

(_CF1021 )

Issued
Issued By: WME

: 06.10.25 (MR2025.06)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CF1021.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1060 - HR SPANDREL GIRT AT CORNER (WELDED CLIP)

LEFT HAND DETAIL SHOWN, | | DIM."A" =4"AT 8" &9 1/2" GIRTS

23/4" 3 WITH (2) H1070 (FIELD
® ° (2) H1070 (

END OF GIRT

RIGHT HAND OPPOSITE =8" AT 12" GIRTS
ATTACHMENT TO WALL AT SHOP WELDED CLIP— TT
4-0" 0.C. MAXIMUM
(ANCHORS NOT BY NBS)
(FIELD DRILL GIRT AS REQ'D)
EQ DIM "A" EQ - I
$-e T HR GIRT— / 7S
| 1
- 1.—— HRGIRT / /
| L —— CLIP MK. nWAN
GCCO2 11/2" SECT. "A
" /HR GIRT
s s W ) ] *
j | j (@]
| | E
------- Telel .»
SHOP i ! i /— SHOP WELDED =
WELDED A CLIP =
PLATE —~| | | | =
Jo ol :
| ( o
| ! | (|
—— . —e§
\ ~— GIRT ANGLE MK. MAGO1 |
1/4 !
|
CUT TO LENGTH) G COLUMN
|

STEEL
LINE

HR SPANDREL GIRT AT CORNER (WELDED CLIP)

NOTE: USE (8) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C C F 1 O 6 O )
REQUIREMENTS

Detailer Notes: 1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER
2) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCM04, 12" GIRT = GCB12
3) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12
4) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCB12 = WS_12

SEE PLAN

Revised : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CF1060.dwg

NWCOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1061 - HR SPANDREL GIRT AT CORNER (WELDED CLIP)

COLUMN * 8" 12"
FLANGE WIDTH GIRTCLIP | GIRTCLIP (%'Eg gthFgRCM_
FLANGE = 4 11/8 GCM11 GCM13 MARK NUVBER)
FLANGE > 4" 11/2" GCMO1 GCMO06 HR GIRT
DIM. "A" = 4" AT 8" & 9 1/2" GIRTS ATTACHMENT TO WALL AT
= 8" AT 12" GIRTS 4-0" 0.C. MAXIMUM ———
. (ANCHORS NOT BY NBS)
E E AN
- d DIM"A a (FELDDRILL GRTASREQD)  OECT."A
|
M .—— HRGIRT
. . COLUMN=™—__ | USE (2) 1/2" x 2" A325 BOLTS
_ ! LT~ cpmk H0603/ NUTS H0300 (CLIP TO
3 @ GCCO2 FLANGE CONNECTION)
i ||A||
— / ‘_
?\] = = = :I: P — — O
------- Telel- |
SHOP . =
WELDED - | - —
PLATE —— ! | ! )
olof- :
1 | 1 ( 8
L _ ! | ! \_
¥ i L N 1
~— GIRT ANGLE MK. MAGO1 gz HR GIRT
14" g 23 . 3 WITH (2) H1070 (FIELD |
END OF GIRT CUTTOLENGTH) ¢ COLUMN LEFT HAND DETAIL SHOWN,
STEEL SEE PLAN | RIGHT HAND OPPOSITE
LINE ? ,

HR SPANDREL GIRT AT CORNER (WELDED CLIP)

NOTE: USE (8) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD

( CF1061 )

2) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12

Revised
Revised By : WME

: 06.10.25 (MR2025.06)

CERTIFIED ERECTION DETAILS

Detail Size (W x H) : 1 x 1


../Certified%20Erection%20Drawings/CED_NBG/CF1061.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1200 - BYPASS CORNER GIRT TERMINATION DETAIL

N

DIM."A"=4"AT 8" & 9 1/2" GIRTS

=8" AT 12" GIRTS ZEE GIRT ™~

G COLUMN 7
LEFT HAND DETAIL SHOWN,

|
RIGHT HAND OPPOSITE | /1l
i SHOP
WELDED
CLIP
112 SECT. "A"
uAu ” / GIRT
| | i i | | A\l
| SHOPWELDED | : ¢ : | @
| CLIP ! y ! =
= N N T 'd
! SHOPWELDED | l | l =
| STIFFENER | | & | 1 =
: PER DESIGN 4,—|—a,i; | =
| | I |I| I |
= —O O .
| | | j o
| S50 N
— e
|
14" END OF |
GIRT |
STEEL SEE PLAN ’
LINE
GIRT TERMINATION DETAIL

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER ( C F 1 2 O O )
REQUIREMENTS

Detailer Notes:

1) (4) HOLE WELDED CLIP: 2) ADD STIFFENER PER DESIGN:

8" - PCUO1 8" GIRT: WS_04

91/2" - GCB62 9 1/2" GIRT: WS _04

12" - GCB12 12" GIRT: WS_12
Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CF1200.dwg

N O

=

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1201 - BYPASS CORNER GIRT TERMINATION DETAIL

N
DIM, "A" = 4" AT 8" & 9 1/2" GIRTS
= 8" AT 12" GIRTS ZEE GRT~__
G COLUMN 7
LEFT HAND DETAIL SHOWN, |
RIGHT HAND OPPOSITE i il
i SHOP
WELDED
CLIP
11" SECT. "A"
i’ |
/: uAu / GIRT
7 >
’ SHOPWELDED | | & | | o
Od CLIP PNy N ( -
2 jx T >
Vs MARO1ANGLE W/~ SHOPWELDED & | ¢ | | =
2 STIFFENER | | '|' | =
Vs (2) H1020 ATEACH  3LFRIER o =
/,% % SUPPORT ! | o
5/ @ @ '
Ll | |
% / FiY J :
l | . L
=g iy i _--_-._§
|
|
STEEL SEE PLAN l
LINE

GIRT TERMINATION AT EXISTING DETAIL

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS

Detailer Notes:

1) (4) HOLE WELDED CLIP:

8" - PCUO1
91/2" -
12" - GCB1

GCB62

2

( CF1201

2) ADD STIFFENER PER DESIGN:
8" GIRT: WS_04

9 1/2" GIRT: WS_04

12" GIRT: WS_12

)

3) MARO1 angle and H1020 fasteners will need to be added by hand in Tekla or PartsList

Issued : 08.01.24
Issued By: WME

(MR2024.08)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CF1201.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1210 - SPANDREL GIRT TERMINATION (WELDED CLIP)

SHOP WELDED CLIP — —— ATTACHMENT TO WALL AT
/420" 0.C. MAXIMUM DIM. "A" = 4" AT 8" & 9 1/2" GIRTS
(ANCHORS NOT BY NBS) = 8" AT 12" GIRTS
FIELD DRILL GIRT AS REQ'D
( GIRTAS REQD) G COLUMN LEFT HAND DETAIL SHOWN,
T : | RIGHT HAND OPPOSITE
ds i
|
\____ﬁu@wmwmms
npn (2) JCPO9 AT 9 1/2" GIRTS
SECT."A (2) JCPO3 AT 12" GIRTS 11"

||A|| ” /GlRT
NN >
| . : T [ g
| |
! oo .
| SHOP WELDED | | . =
| ! I I T
| SR 2
I
| — 1L L o
Pt .
| @: :@ /\ g
I ——
L | | ! ——e§
|
e END OF |
GRT |
STEEL SEE PLAN ¢
LINE

SPANDREL GIRT TEMINATION (WELDED CLIP)

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CF1 21 O )

Detailer Notes:

1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER

2) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCM04, 9 1/2" GIRT = GCM95,

12" GIRT= GCM12

3) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCM95 = WS_04, GCM12 = WS_12

Issued : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF1210.dwg

NUWUWECOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1211 - SPANDREL GIRT TERMINATION (BOLTED CLIP)

GIRT CLIP MK. GCM_ COLUMN * 8" 91/2" 12"
(SEE CHART FOR FLANGE WIDTH GIRTCLIP | GIRTCLIP | GIRTCLIP
MARK NUMBER) FLANGE = 4" 11/8" GCM11 GCM25 GCM13
ATTACHMENT TO WALL AT FLANGE>4" | 11/2" | GCMO1 GCM24 GCM06
4-0" 0.C. MAXIMUM : .
(ANCHORS NOT BY NBS) S DIM. "A" = 4" AT 8" &9 1/2" GIRTS
(FIELD DRILL GIRT AS REQD) /// G COLUMN =8 AT 12" GIRTS
JCP02 AT 8" GIRTS - | LEFT HAND DETAIL SHOWN,
nggg ﬂ ?21"/2G | gITF;TS RIGHT HAND OPPOSITE
nAn
SECT."A * | % USE (2) 1/2" x 2" A325 BOLTS
H0603/ NUTS H0300 (CLIP TO
FLANGE CONNECTION)
GIRT
/ S — uAu
| __-____| r————" ’_
| 1l [ g
| |
| L L \ .
i Cgl
H | : ! : | =<(
| . =
i iy 5
I !
i OO —
: L . 8
L =t 3
T4 ~| END OF . ;L 12
STEEL SEE PLAN é
LINE

SPANDREL GIRT TERMINATION (BOLTED CLIP)

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD

( CF1211)

Issued
Issued By: WME

: 06.10.25 (MR2025.06)

CERTIFIED ERECTION DETAILS

Detail Size (W x H) : 1 x 1


../Certified%20Erection%20Drawings/CED_NBG/CF1211.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1220 - HR SPANDREL GIRT TERMINATION (WELDED CLIP)

SHOP WELDED CLIP LEFT HAND DETAIL SHOWN
RIGHT HAND OPPOSITE
HR GIRT _—— ATTACHMENT TO WALL AT
\ 40" 0.C. MAXIMUM DIM. "A" = 4" AT 8" GIRTS
T ; (ANCHORS NOT BY NBS) = 8" AT 12" GIRTS
A P § (FIELD DRILL GIRT AS REQD)
SECT. "A"

11/2"
nAN HOT-
A" | ——-— ROLLED GIRT

|
|
| g | np———— 'S
| a — = ql; — I: —— ql; =k [ o
i SHOPWELDED || L. | ( e
. CLIP \v2/ "@ \d
: — |
| 4 || Asop -
| - WELDED =
| . PLATE =
! olo *
! 9\ | I | ( 8
$ ——-—- i e e
” GIRT ANGLE MK. MAGO1 |
WITH (2) H1070 (FIELD -
%0 CUT TO LENGTH) |
END OF GIRT ¢ COLUMN
STEEL SEE PLAN #

LINE

HR SPANDREL GIRT TERMINATION (WELDED CLIP)

NOTE: USE (4) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CF1 220 )

Detailer Notes: 1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER
2) SHOP WELDED BYPASS GIRT TO COLUMN: 8" GIRT = GCMO04, 12" GIRT = GCB12
3) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12
4) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCB12 = WS_12

Revised : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CF1220.dwg

NUUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1221 - HR SPANDREL GIRT TERMINATION (BOLTED CLIP)

GIRT CLIP MK. GCM_ COLUMN % 8" 12"
(SEE CHART FOR FLANGE WIDTH GIRTCLIP | GIRTCLIP
MARK NUMBER) FLANGE=4" | 11/8" | GCM11 GCM13
HR GIRT . __ FLANGE>4" | 112" | GCMO1 GCM06
ATTACHMENT TOWALLAT — —= LEFT HAND DETAIL SHOWN
4-0" 0.C. MAXIMUM RIGHT HAND OPPOSITE
(ANCHORS NOT BY NBS)
(FIELD DRILL GIRT AS REQ'D) DIM. "A" = 4" AT 8" GIRTS
SECT. "A" = 8" AT 12" GIRTS
USE (2) 1/2" x 2" A325 BOLTS
% | % H0603/ NUTS H0300 (CLIP TO
o1 FLANGE CONNECTION)
| -
i / ROLLED GIRT —~y—"\"
i — =-= pr— el — w— I ._
! E | ( Y
| @ |"'@ 'l
i SHOP T -
: WELDED . =
| PLATE o =
| ©+-0 >
Lo~ L o
% S i i i . n : _--_-._§
GIRT ANGLE MK. MAGO1 b z 1112
1/4" WITH (2) H1070 (FIELD '
% CUT TO LENGTH) |
END OF GIRT G COLUMN
STEEL SEE PLAN '
LNE T ¢

HR SPANDREL GIRT TERMINATION (BOLTED CLIP)

NOTE: USE (4) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CF 1 22 1 )

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD
2) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12

Revised : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CF1221.dwg

NLUOCOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1260 - BYPASS CORNER GIRT TERMINATION @ MASONRY WALL DETAIL

T
DIM. "A" = 4" AT 8" & 9 1/2" GIRTS
= 8" AT 12" GIRTS ZEEGRT  ~__
G COLUMN 7
LEFT HAND DETAIL SHOWN, |
RIGHT HAND OPPOSITE | /1l
- SHOP
' WELDED
CLIP
112 SECT. "A"
uAu ” /GlRT
B o
SHOP WELDED i i i h
CLIP\_\T@_ ” '@F_ .
SHOPWELDED & | ¢ | | =
] g
B 5
—O-+- O .
Bl ( S
— s
|
1/ ll_
. VARIES 4o ENDOF |
STEEL SEE PLAN ORT |
INE T ’

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS

Detailer Notes:

1) (4) HOLE WELDED CLIP:

8" - PCUO1
9 1/2" - GCB62
12" - GCB12

(_CF1260 )

2) ADD STIFFENER PER DESIGN:
8" GIRT: WS_04
9 1/2" GIRT: WS_04
12" GIRT: WS_12

Issued : 05.31.24 (MR2024.06)
Issued By: BSS

CERTIFIED ERECTION DETAILS

Detail Size (W x H):

1x1


../Certified%20Erection%20Drawings/CED_NBG/CF1260.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1270 - SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)

oHoP WELDED CLP DIM."A" = 4" AT 8" & 9 1/2" GIRTS
|_—— ATTACHMENT TO WALL AT =8"AT12"GIRTS
40" 0.C. MAXIMUM
(ANCHORS NOT BY NBS) ¢ COLUMN LEFT HAND DETAIL SHOWN,
(FIELD DRILL GIRT AS REQID) | RIGHT HAND OPPOSITE
|
|
(2) JOPO2ATS' GRTS —
(2) JCPO9 AT 9 1/2" GIRTS
(2) JCPO3 AT 12" GIRTS 1

SECT. "A"

N — / GIRT
u @_ é *

EQ.

SHOP WELDED
CLIP \—\ .

DIM. "A"

O+ >
< i i
N S B SO N
i B
|
114"
y VARIES J, END OF |
STEEL SEPLN |
INE T ’

SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C C F 1 2 7 O )

REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER

2) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCMO04, 9 1/2" GIRT = GCM95,

12" GIRT = GCM12

3) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCM95 = WS_04, GCM12 = WS_12

Issued : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF1270.dwg

NUWUECOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY
CF1271 - SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)
GIRT CLIP MK. GCM_ COLUNN * 5 T T
SEFEKCSAS;EFSR FLANGE WIDTH GIRTCLIP | GIRTCLIP | GIRTCLIP
UMBER) FLANGE=4" | 118" | GCM11 GCM25 GCM13
ATTACHMENT TO WALL AT FLANGE>4" | 112" | GCMO1 GCM24 GCM06
40" 0.C. MAXIMUM . -
(ANCHORS NOT BY NBS) T & ¢ COLUMN DIM. "A" = 4" AT 8' &9 12" GIRTS
(FIELD DRILL GIRT AS REQD) /// : = 8" AT 12" GIRTS
JCP02 AT 8" GIRTS LEFT HAND DETAIL SHOWN,
JCP09 AT 9 1/2" GIRTS / RIGHT HAND OPPOSITE
JCP03 AT 12" GIRTS
. USE (2) 1/2" x 2" A325 BOLTS
SECT. "A % | % H0603/ NUTS H0300 (CLIP TO
FLANGE CONNECTION)
/ GIRT "
__-____| | r—" ._
R [ o
O —
1T r— ®-
Sl i
. =
1 | f | 1 §
] 5
| | f | |
@J:‘H@'_ / '
[ "
= | @
] o
! h 1/
14— *‘%
. VARIES J, END OF !
GRT |
STEEL SEE PLAN ¢
LINE

SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD

( CF1271)

Issued : 06.10.25 (MR2025.06)
Issued By: WME

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CF1271.dwg

NUCOR BYPASS CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CF1280 - HR SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)

SHOP WELDED CLIP~ LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
HR GIRT |_—— ATTACHMENT TO WALL AT
\ 40" 0.C. MAXIMUM DIM. "A" = 4" AT 8" GIRTS
b - (ANCHORS NOT BY NBS) = 8" AT 12" GIRTS
7 / y (FIELD DRILL GIRT AS REQD)
SECT. "A"
11/2"
I ‘ I HOT-
AN
A'| / ROLLED GIRT
i s e e = ] '
T [ T O
SHOP | ( -
WELDED —1] T H— 'S
PLATE——~| + | -— SHOP i
] ] wetpeo =
. CLIP =
O 1+O- .
| ( o
! I | L
] i ] \—-—e§
|
1/ Il_ |
VARIES END OF
* J? ¢ COLUMN
STEEL SEE PLAN |
UNE T ’

HR SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)

NOTE: USE (4) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS ( CF1 280 )

Detailer Notes: 1) THIS DETAIL SHOULD BE USED ONLY WHEN REQUESTED BY THE CUSTOMER
2) SHOP WELDED BYPASS GIRT CLIP TO COLUMN: 8" GIRT = GCM04, 12" GIRT = GCB12
3) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12
4) ADD STIFFENER PER DESIGN TO GIRT CLIP: GCM04 = WS_04, GCB12 = WS_12

Issued : 06.10.25 (MR2025.06) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WME


../Certified%20Erection%20Drawings/CED_NBG/CF1280.dwg

NUWUWECOR

BUILDINGS GROUP

BYPASS CORNER GIRT DETAILS

WALL SECONDARY

CF1281 - HR SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)

GIRT CLIP MK. GCM_ COLUMN * 8" 12"
(SEE CHART FOR FLANGE WIDTH GIRTCLIP | GIRTCLIP
MARK NUMBER) FLANGE = 4" 11/8" GCM11 GCM13
HR GIRT _ FLANGE > 4" 11/2" GCMO1 GCM06
4A'T()T"ASBM§Z;||I/|%|\\;|VALL AT 7A LEFT HAND DETAIL SHOWN,
0 OL RIGHT HAND OPPOSITE
(ANCHORS NOT BY NBS)
(FIELD DRILL GIRT AS REQD) DIM. "A" = 4" AT 8" GIRTS
SECT. "A" = 8" AT 12" GIRTS
USE (2) 1/2" x 2" A325 BOLTS
* | % H0603/ NUTS H0300 (CLIP TO
FLANGE CONNECTION)
HOT- ||A||
V ROLLED GIRT ]
S R— 7 L &
N~ — T — ] g
SHOP | w
WELDED @ r-@--— >
PLATE ——_ , _
1 | 1 =<
. =
| =
olol | (3
il g
| | | \
i ——3
o $| 11/2"
1/ ll_ |
VARIES END OF
* J'P GRT ¢ COLUMN
STEEL SEE PLAN |
INE T *

HR SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)

NOTE: USE (4) 1/2" x 2" A325 BOLTS (H0603) & NUTS (H0300)
( CF1281)

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER
REQUIREMENTS

Detailer Notes:

1) THIS DETAIL SHOULD BE USED AS THE STANDARD
2) SHOP WELDED CLIP TO HOT ROLLED GIRT: 8" GIRT = HC_08, 12" GIRT = HC_12

Issued : 06.10.25 (MR2025.06)
Issued By: WME

CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CF1281.dwg

	TABLE OF CONTENTS
	BYPASS CORNER GIRT DETAILS
	CF0015 - SINGLE CEE COLUMN AT BYPASS GIRTS
	CF0250 - GIRT TERMINATION DETAIL
	CF0251 - GIRT TERMINATION AT EXISTING DETAIL
	CF0252 - BOLTED GIRT TERMINATION DETAIL
	CF0253 - BOLTED GIRT TERMINATION AT EXISTING DETAIL
	CF0256 - HR GIRT TERMINATION DETAIL
	CF0257 - HR GIRT TERMINATION @ C.F. COL.
	CF0275 - GIRT TERMINATION @ MASONRY WALL DETAIL
	CF0280 - BOLTED GIRT TERMINATION @ MASONRY WALL DETAIL
	CF0351 - SIMPLE SPAN GIRT TERMINATION @ C.F. COL.
	CF0360 - BYPASS GIRT AT CF CORNER COL.
	CF0500 - 8" GIRT TERMINATION DETAIL
	CF0501 - 8" GIRT TERMINATION AT EXISTING DETAIL
	CF0510 - 8" GIRT TERMINATION @ MASONRY WALL DETAIL
	CF0520 - 9 1/2" GIRT TERMINATION DETAIL
	CF0521 - 9 1/2" GIRT TERMINATION AT EXISTING DETAIL
	CF0530 - 9 1/2" GIRT TERMINATION @ MASONRY WALL DETAIL
	CF1001 - BOLT PLACEMENT DETAIL
	CF1010 - BYPASS CORNER GIRT DETAIL
	CF1020 - SPANDREL GIRT AT CORNER (WELDED CLIP)
	CF1021 - SPANDREL GIRT AT CORNER (BOLTED CLIP)
	CF1060 - HR SPANDREL GIRT AT CORNER (WELDED CLIP)
	CF1061 - HR SPANDREL GIRT AT CORNER (BOLTED CLIP)
	CF1200 - BYPASS CORNER GIRT TERMINATION DETAIL
	CF1201 - BYPASS CORNER GIRT TERMINATION AT EXISTING DETAIL
	CF1210 - SPANDREL GIRT TERMINATION (WELDED CLIP)
	CF1211 - SPANDREL GIRT TERMINATION (BOLTED CLIP)
	CF1220 - HR SPANDREL GIRT TERMINATION (WELDED CLIP)
	CF1221 - HR SPANDREL GIRT TERMINATION (BOLTED CLIP)
	CF1260 - BYPASS CORNER GIRT TERMINATION @ MASONRY WALL DETAIL
	CF1270 - SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)
	CF1271 - SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)
	CF1280 - HR SPANDREL GIRT TERMINATION AT WALL (WELDED CLIP)
	CF1281 - HR SPANDREL GIRT TERMINATION AT WALL (BOLTED CLIP)


